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int/long EEAMNMNTHRESKBHITHNARAFIRIEMAE

ZIRIRIR UHRE BEEE
int 16T 24 2 bytes -32768 t032767
int 321 TC 24 4 bytes -2,147,483,648 to 2,147,483,647
short 2 bytes -32,768 to 32,767
long  32fUITE#R 4 bytes -2,147,483,648 to 2,147,483,647
long  64QITTEMR 8 bytes -(293) to (263)-1
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& ( AND)

#include <iostream>
using namespace std;

int main(){
int a = 10;
int b = 6;

cout<<a<<" & "<<b<<" = “<<(a&b);

return 0;

}
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#include <iostream>
using namespace std;

int main(){
int a = 10;
int b = 6;

cout<<a<<" | "<<b<<" = “<<(al|b);
return 0;

}

10,,= 1010, |

16,0 =0110, |

0 1 0
1 1 0
1 1 0

1010, | 0110, = 1110,
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A ( XOR )

#include <iostream>
using namespace std;

int main(){
int a = 10;
int b = 6;

cout<<a<<" ™ "<<b<<" =
return 0;

}

”<<(a’\b);

| 10,,= 1010, |
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1 0 1 0
0 1 1 0
1 1 0 0

1010, A 0110, = 1100,
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#include <iostream>

#include <climits>

using namespace std;

int main(){

int a =10, b = 20

cout << a <<
cout << a <<
cout << b <<
cout << b <<

return 0;

==

<<

==

<<

B PhA NN

<<

<<

<<

<<
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a>>2)
a<<2)
b>>4)
b<<4)

<<
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<<

<<

endl; // 10
endl; // 10
endl; // 20
endl; // 20
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150,, = 10010110,
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N=3
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AR« ZERIBUESE N ETiE ?

#include <iostream>
using namespace std;

int main(){
unsigned int a = 150;
int 1\ = 3¢
unsigned int x = ( a > (i1-1) ) & 1;
// B a &£ 1 E7ER bit &
cout << x << endl;
return 0;
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L2 o 0 0 0 1<<0
2t o 0 0 0 1<<1
22 | o 0 0 0 1<<2
22 o 0 0 1 1<<3
L 28 o 0 1 0 1<<4




BR 2N R_RZL?

#include <iostream>
using namespace std;

int main(){
int n ;

]

cin >> n;

cout <<"2 ) "<<n<<" RF => "<<(2<<(n-1))<<endl;
return 0;



BIRE3 : BB N 2{BBUE ?

fHE 8 TR 5

1 o |o o 0 1 |o
&

o |o o 1 o |o o




AR« BEIN ZEBUS 2

#include <iostream>
using namespace std;

int main(){
int n ;
cin >> n;
if (n & 1) {
cout << n << " EFH\n";
}
else {
cout << n << " ZHBE\n";
}

return 0;
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int/long ZEEAMNMNTHRESKEBHITHNRFIRIEMAE

ZIRIRIR UHRE BEEE
int 16T 24 2 bytes -32768 t032767
int 321 TC 24 4 bytes -2,147,483,648 to 2,147,483,647
short 2 bytes -32,768 to 32,767
long  32fUITE#R 4 bytes -2,147,483,648 to 2,147,483,647
long  64QITTEMR 8 bytes -(293) to (263)-1




Blunsigned short int2R R A #E 1 F

- B3 unsigned short int x;
» unsigned short int MA16{&fI TR =R IEZEE

B
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M
0000000000000000 0
0000000000000001 1
0000000000000010 2
0000000000000011 3
0000000000000100 4
11111171111111110 65534
1111111111111111 65535
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Blshort int2RZRBHH#E 1 F & R AY

- B3 unsigned short int x;

» unsigned short int MA16{&fI TR =R IEZEE
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0000000000000000 0
0000000000000001 1
0000000000000010 2
0000000000000011 3
0000000000000100 4
11111171111111110 65534
1111111111111111 65535
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BAshort int?REREBE IE & FEAIEE

« BEEAT shortintx;
« shortint WEALNITTER

0000000000000000 0 1000000000000000 | -0
0000000000000001 1 1000000000000001 -1
0000000000000010 2 1000000000000010 | -2
0000000000000011 3 1000000000000011 -3
0000000000000100 4 1000000000000100 | -4
0111111111111110 32766 1111111111111110 | -32766
0111111111111111 32767 1111111111111111 -32767
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{IJCEHEF ~ (NOT)

#include <iostream>
#include <climits>
using namespace std;

int main( ){
unsigned short int x =

short int a = SHRT_MAX, b =

cout << "NOT(" << x <<
cout << "NOT(" << y <<
cout << "NOT(" << a <<
cout << "NOT(" << b <<
return 0;

USHRT_MAX, y = 0;

)

)
)
)

SHRT_MIN;

" << (unsigned short int )~x << endl; // NOT(65535) = 0@
" << (unsigned short int )~y << endl; // NOT(@) = 65535
" << (short int)~a << endl; // NOT(32767) = -32768

" << (short int)~b << endl; // NOT(-32768) = 32767
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